Linear or not



Table B

X

y

Table C

Determme if the table is linear or not? If the table
s linear, complete the missing row in the table.

Table D
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Table A
X Y
2 |14
5 |35
7 |49
10 |70
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Determine if the graph represents a linear function
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Determine if the equation represents a linear function

f. }f:2I3+1 g. iy = 3x h, i =

=



7. MEASUREMENT The table shows the measures f

of the sides of several rectangles. Are the
widths of the rectangles a linear function
of the lengths? Explain.
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Determine if each table, graph or equation is linear or non-linear
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